
1. During the formation of the Dual Monarchy, Francis Joseph issued the October Diploma. 

Which of the following is not true about the October Diploma? 

a. Created a federation among the states and provinces 

b. Local diets would dominate the land classes and a single imperial parliament  

c. The Magyar nobility of Hungary rejected the plan  

d. Was issued by Francis Joseph in 1860 

e. None of these answers  

 

2. When the Habsburg Empire was a problem to itself and Europe, the response to the 

revolts during this time led the empire to a new emperor, Francis Joseph. When did the 

reign of Emperor Francis Joseph begin? 

a. 1849 

b. 1916 

c. 1848 

d. 1860 

e. 1902 

 

3. A year after the October Diploma was issued; Emperor Francis Joseph issued the 

February Patent in 1861. What was the main purpose of this patent in 1861? 

a. To have an entirely different form of government than the previous October 

Diploma 

b. Did not affect anything during 1861 

c. Make the Magyars accept or refuse another proposal  

d. The fact that the February Patent in 1861 remained in power for six years  

e. Have the same or similar powers of the October Diploma  

 

4. The Compromise of 1897 was created to transform the Habsburg Empire into a dual 

monarchy. Which of the following national groups opposed the Compromise? 

a. Czechs  

b. Ruthenians 

c. Romanians  

d. Croatians  

e. All of the above 

 

5. While the formation of the Dual Monarchy continued, secret negotiations between the 

emperor and Magyars eventually resulted in the exclusion of a country. What country 

was excluded from all German affairs.  

a. Russia  

b. Austria  

c. Hungary 



d. Germany  

e. Italy  

 

6. Which of the following was a dead letter in 1914, even though it flourished in Hungary? 

a. Trialism  

b. Obstructionism  

c. Nationalism  

d. Constitutionalism  

e. Liberalism 

 

7. The Croatians and the Poles wanted an independent state in union with their fellow 

nations who lived outside the empire. Others saw it as potential links to Russia. Which of 

the following did not see this potential link to Russia?  

a. Romania  

b. Serbia  

c. None of the above 

d. Italy  

e. Slavic State  

 

8. In 1907, Emperor Francis Joseph introduced what in Austria, but not in Hungary, that did 

not eliminate the chaos in the Reichsrat. 

a. Universal Male Suffrage  

b. Constitutionalism 

c. February Patent  

d. Compromise of 1867  

e. None of the above 

 

9. What happened to the Habsburg Monarchy and the Ottoman Empire after the First World 

War? 

a. Stay strong  

b. Would eventually disappear and lead towards the World War II 

c.  Remain the same  

d. Find a new emperor  

e. Keep Emperor Francis Joseph and the current government 

 

10.  From the Balkan tensions emerged what? 

a. The First World War 

b. WW II  

c. A new emperor 

d. All of the above  



e. None of the above  

 

Fill in the blank: Read the given sentence and fill in an appropriate answer. 

1.  The Compromise of 1867, also know as ____________ of 1867, transformed the 

Habsburg Empire into a dual monarchy which was known as Austria-Hungary.  

 

2. In 1861, the February Patent formed an entirely different government. They established a 

bicameral imperial parliament with an upper chamber appointed by the emperor and 

indirectly appointed lower chamber. This was also known as ____________.  

 

3. The __________ defeat in 1859 at the hands of France and Piedmont and the subsequent 

loss of territory in Italy confirmed the necessity for a new domestic policy.  

 

4. After the Compromise, A new dual monarchy was established between two countries. 

________________ was the name of the new dual monarchy.  

 

5. The most vocal critics were the Czechs of Bohemia. They favored a policy of 

__________, or a triple monarchy, in which the  Czechs would have similar positions the 

Hungarians. 


